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50 questions.
W o e e faw g Rl T 2 2
(A)  Hime (B) @R
(C) w e
Who wrote the book ‘Social C ange’ ?
(A} Ogburn (B)  Sorokin
(C)  Spencer (D) Max Weber
e faqma 1 W@ d@a 7 2 p
(a) e (B) K
LI (D) FTETE -
Which is the main source of advertisement at present ?
(A)  Radio (B} Internet
(C}  Mobile (D)  Public contact
f= % 8 9 g w1 stvafe ame 2 0
(a) w4 (B F
(C)  Ftifaat (Dy  vAEfeat
Which of the following is the formal means of social contro) ?
(A] Custom (B} Law
(C) Folkways (D}  Mores
gt &1 @ qftom @ 2
(A) T4 T H I@ (B)  rahfiem
oy R (D) wH A of
'fWhar is the result of modernization ?
(A) Emergence of new classes
(B) Industnalization

(C) Unemployment
(D}  All of these

50x1 =50

options, out of which only one is correct.
option, on the OMR-Sheet. Answer any
50 x1=250
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fr 3 @ @ il wipies d 3 aRada o AT sh R o

5.
(A) TEpfawm (B)  3fenfietar
(C) ufeefiam (D)  etfeahieTa
Which one of the following is not a process to bring about change
in Indian cultural structure ?
(A)  Sanskritization (B) Industrialization
(C) Westernization (D)  Secularization
6. NI ¥ 11 GEH B HIEEHF GHE ¢ ?
() gfeem JLAL
© | (D) %wr
Which is the smallest minority group in India ?
(A) Muslim (B) Buddhist '’
(C) Jain (D). Christian
7. A d P @ W aRE R 2 o
(AL it B) T
qu™ (p) s
Which one of the following is not a scheduled caste in India ?
(A) Washerman (B) Barber
(C) Dusadh (D) Carpenter
8. Hfeem faame & frm s R & 2
) By @
€ =m ' (D) uiw
There are how many types of Muslim marriage ?
(A) Two . (B) Three
(C}) Four (D) Five
9. fdash-wmallao g
(A)  WhET (B X
(C) o= Al (D)  FTEW
Which among the following is not an achieved status ?
(A) Professor (B) Collector
(C) Bank officer (D) Brahmin
10. form odt wrerem o ot Aify a9 T o
(A) 1987 (B) 1991
(C) 1948 ‘ 1952
In which year was a National Policy on child labour made ?
(A) 1987 (B) 1991
~ (C) 1948 (D) 1952
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12.

13.

14.

15.

325

Wﬁﬁqﬁﬂaﬂq-mmmmt? | |

A free B) wifte

(€} THarg (D) H&Rd

Which marriage among Muslim is temporary in nature ?

(A} Nikah (B) Phasid

(C)  Mutah (D}  Mubarat

ST A fafram frw ad wiw gan >
(A 1955 1976

(C) 1988 (D) 1995

In which year was Umouchability Offence Act passed ?

(A) 1955 (B) 1976

(C) 1988 (D) 1995

FTgfa Ifeat § serer R FR01 fear srar 2 2

(A) Tt & wnw (B) nfi® savawarsit % wror

(C) 98Em & Frw D) P amamfye fRufy ¥ wroo
Due to which reason is reservation for scheduled caste provided ?
(A) Due to poverty (B)  Due to economic necessities
(C) Due to population (D)  Due to low ritual position
ﬁwﬁﬁﬁﬁﬁs&ﬁwmﬁaﬁaﬁamﬁ%mﬁw%%?

sy Tgf (B) YA T e
(C) TSI (D) %= wfawss

Who among the following is authorized to declare a caste as
scheduled caste ?

(A) President (B) Scheduled Caste Commissioner
(C) Governor (D) Union Ministry
ﬁqﬁﬁaﬁq—ﬁmmﬁfm%mﬁiﬁqmg?

(A)  renfiem (B) aAvdtemm

(C) e DT W ot

Which of the following factors is responsible for chan
system ?

(A) Industrialization (B)  Globalization

(C) Urbanization (D) All of these

ge in caste
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6. B d A ReEh oy wiem % wavard fagr @1 wiagred fea @ >
(A) A (B) REH
(o) (D) 2fm
Who among the following has propounded the conflict theory of
social stratification ?

(A) Weber (B) Parsons
(C) Marx (D) Dawis
17. e aepfomon & sanfim s & gfesa Fa 2
(A) A= fee (B) TUH. #. g
(c) . 3fam (D) . = =
Who has called Sanskritization as anticipatory Socialization ?
(A) Yogendra Singh (B) S.C. Dube
(C) K. Davis (D) C. H. Cooley
18. T ad gug & OF1 wedl § f7 aems w7 ww gam 2
(A) 2018 ‘ _iBY” 2017
(C) 2019 (D) 2020

In which year was the law of Triple Talak' passed from both the
houses of parliament ?

(A) 2018 (B) 2017
(C) 2019 (D) 2020
19, wIiYe frem g 1 v i e el 3 fe o
(A) T B) Uw
€ F Py EEDEC
Which sociologist used the term ‘social control’ for the first time ?
(A) Marx (B) Ross
(C} Comte (D) Maclver
20. WRAR auTe ¥ 3farrw w frad s & fanfia fean st @ 2
B B) #H
(C) SN (D) 4=
History of Indian society is divided into how many periods ?
(A) Two (B) Three
(C) Four (D) Five
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21, fe ouma 4 e ssm e 8 -

A B uiw
© o 2
There are how many Ashrams in Hindu society ?
(A) Four (B) Five
(C})  Three (D) Two
22. Torm ad vl Tge S &1 mew ganm w2
(A) 1956 (B) 1958

/LO‘]/ 1977 (D) 1979

In which ycar was Ashok Mehta Committee constituted ?

(A) 1956 (B) 1958
(C) 1977 (D) 1979
03, waaHEl § fyame fawg & e v g 2
W B =
(c) 9= D) B
There are how many types of divorce among the Mushms ?
(A) Two (B) Four
(C) Five (D) Six
24. 19324 msﬁmmmmﬁmi’mﬁzmﬁﬂ off »
| Wi IrEEE (B) wI¥fH
"¢y werem i (D) e EA

Who had established All India Harijan Sevak Sangh in 1932 ?
(A) Bhim Rao Ambedkar (B) Kanshi Ram
(C) Mahatma Gandhi (D) Jyotiba Phule

s e Faae Py srfafm GEd e 9 TIE A0 ?

Ay 1850 (B) 1895

(C) 1925 (D) 1929
In which year was the Child Marrlagc Restraint Act first enacted ?
(A) 1850 (B) 1895
(C) 1925 [Dl 1929
26. W wfa A o fREr wfearfed fear 2 2

(A) IR B) uw. .

(Cp U Im. @ (D) . . A

"Who has propounded the concept of dominant caste ?

(A) R.Indra _ (B) S.C.Dube

(C) A.R. Desai (D) M. N. Srinivas
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27. P= & @ BN wwromeh a¢ € 2

(A) 3T HiR R
(€) . . gfd oy =iff
Who among th¢ following is not a sociologist ?
(A)  Auguste Comte (B) Maclver
(C) G.S. Ghurye (D) Darwin
28. %UHHA P @ fred wef 2 2
ANy (B) d&Ril
C) et _(D) e wR
‘FERA law’ is related with which of the following ?
(A)  Child labour (B)  Trafficking
(C) Prostitution (D) Black money
29. P83 F-w aof smen w1 s adi 2 2
(A) TR }151’ - f
(c) 49w D) vETE
Which among the following is not a part of Varna system ?
(A) Brahmin (B) Kshatriya
(C) Vaishya : (D) Kushwaha

30. TS AW 99194 § HEWdT Y JAaW §@N ¥ At } ?

" B)
Ay

N L (D) e
‘What is the minimum number of members in a Gram Panchayat ?
(A)  Eight "(B) Ten
(C) Twelve (D) Fourteen
31. f= 4 fag aqg # 3<.9qg @ o wgg § fawifa e @ 0
(A) BemE B) M
ef wE (D) T
Who among the following has divided group into In-group an
Out-group ?
(A) Maclver (B) Green
(C)  Sumner (D)  Cooley
32. I $IR % IIWN guEwE frg eg @ awg a9de @ 0
(A)  HHEITH (B) wWIfS AT
(C) e fagm (D)
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According to Auguste Comte sociology is closer to which

discipline ?

(A} Anthropology (B)  Social Anthropology
(C) _Biology . (D) Physics
33. I FI % W wiw & er 9w & 2
a) g8 xvI B) o XIV
C) u==E (D) ¥W
Who was the King of France during French Revolution ?
(A} Louis XVI | (B) Louis XIV
(C) Edward (D) Czar
34. B= 4 @ 9 o & araares woem @ 92 # 2
(A) 3T Wl By v
€ xR “(D) W "
' Who among the following is associated with the synthetic school of
" sociology ?
(A) Auguste Comte (B) Emile Durkheim
(C) Pareto (D) Spencer
35. HR % fagm & dww & fagra § o1 fvg ga8 wwe s @ 2
(A) Safasm (B) Tt
(e wuNTe (D) fah
Which of the following subjects comes first in the Comte's
hierarchical principle of sciences ?
(A) Biology (B) Mathematics
(C) Sociology (D)  Physics
36. FeEE wur i geng favvar e fafima wsmaia 2 2
(A)  YE (B) ¥
e) ¥ G Ha N2
Which’ of the following fundamental features of Jajmani system is
based on exchange ?
(A) Documents (B) Land
(C) Goods and services (D) Money
37. frm af yadw fwrer A we i 0§ off 2
(Ay 1957 (B) 2009
| 2014 (D) 2019
In which year was Enforcement Directorate established ?
(A) 1957 . (B) 2009
(C) 2014 (D) 2019 .
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38.

39.

40.

41.

42,

43.

[325]

frer & formty “wed =1 o W fagra fan R 2
(A) W (B) TEK

(C) I . BT gEH

Who among the following has given the theory of ‘Sociology of
Religions’ ?

(A)  Marx . (B) Tylor
(C) Weber (D) Durkheim

-1 U Wy Jraen T8 & ?

(a) ofa-ueht }g{ T

(€ far-g= (D) wr-wE

Which one is not a primary kin ?

(A) Husband-Wife (B) Uncle

(C) Father-Son (D}  Brother-Sister

fr= & @ ol afda feufe &1 & e @ 2

(A) TSH ,/(BT AL 7L

(C) sTE (D) EH

Which one of the following is the example of achievement status ?
(A) Girl (B) Doctor

(C) Brahmin (D) Boy

faeR gurEd te wfefaw, 1993 # o demm % oo fead w@ w1 Rw
fFmmr g »

20 (B) 25
1o 28 (D) 30

‘How many functions of Gram Panchayat have been narrated in

Bihar Panchayati Raj Act, 1993 ?

(A) 20 (B) 25
(C) 28 (D) 30
fergm S e Ao fbw gt 3 amy e 2
(a) e oM (B) WY TR
(C) Mt um et (D) =y fasm
Which Chief Minister started the ‘Bihar Berojgari Bhatta Yojana’' ?
(A)  Nitish Kumar (B) Lalu Prasad
(C)  Jitan Ram Manjhi (D)  Jagannath Mishra
i & eTETE w1 R fRed faa 2
(R) TR (B) %R
(C) A% 3w (D) W
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44.

45.

46.

47,

48.

[ 325 ]
Who propounded Animism theory of religion ?
(A)  Tylor (B) Frazer
(C) Max Weber (D) Durkheim
frm fer ey afefy e o oM sr Fues feme oAm
T 8 ?
A 265d B) 1154
(C) 279A /03{ 5 3
Which day is observed as International Day against Drug Abuse
and Illicit Trafficking ?
(A)  26th June (B) 11th June
(C) 27th June (D) Sth June
fore w1, TliEan o offea gefa 7 2
A fared (B) &
c W o) R
Who said, “Urbanism is a way of life” ?
(A) Wirth (B) Bergel
{C) Ross (D)  Ghurye
ﬁ;ﬁwﬁwaﬁmﬁf%mﬁugﬁﬁwaﬂw%mv
(A) T By fe
(C) A"hics (D) @fEEHe
Who has given racial interpretation of origin of caste system ?
(A) Morgan (B} Rusley |
(C) Nesfield (D) Sachchidanand
ﬁmﬁﬁ%ﬁwmmﬁmmmé’
(A) T 1 N““ﬁfﬁéigq
() dufies faweA {D} et
Which among the following cannot be said to be the effect of
alcoholism ?
(A) Decline of health
(B) Decrease in cnmc. |
(C) Personal disorgamﬂ;m“
ial disorganiza
%;:’%ﬂamg 7 3 g Tl § W M R 2

(B) 2019

018
- (D) 2021

(c) 2020
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49,

50.

S1.

o2.

53.

frm ad wd fran e @ e man 2

(A) 1992 (B) 1993
(C) 1994 /(p)/ 1995
In which year was Sarva Shiksha Abhiyan launched ?
(A) 1992 (B) 1993
(C) 1994 (D) 1995
gegfaehw ) yrauron 79 § @ fee afim w9 4 w&fE @ 2
) F e (B i W
(€) fea Az (D) TR Tg
The concept of Sanskritization is closely related to which of the
following ?
(A)  Reference group (B)  Primary group
(C) Interest group (D)  Tertiary group
Tt e fiam oy g 2
(A) 3Jufeg @ B) faa
(CY TEEw | D) dTH
Indian social thought begins with
(A) Upanishad (B) Gita
(C) Ramayana (D) Vedas
791 W Wead foee gafim g 2
(A) et o By rggfem s
(€ fred s (D) &
With whom is Tana Bhagat movement associated ?
(A)  Scheduled castes (B) Scheduled tribes
(C} Backward castes (D) Brahmins
9 & FHIATA F He YA FOH & T A 3@ g 2
@A) 17d 7@ (B) 18 df g
(€) 19 & D) 21 wd
When did sociology emerge as a separate social science in Europe ?
(A)  17th century (B)  18th century
(C)  19th century (D) 21st century
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54. GUIE T W@ ATYR F1 2 ?
(A)  EHERE wTEe (B)  3meafnftan
(C) T & wa (D) HYQH gEY
What is the main basis of community ?
{A) Community sentiment (B) Self-dependence

(C) We feeling (D) Indirect relation
55. fw amifies wfeda = gt sifeerare w81 wan 2 2
(A) T B) Ha
(C) weA (D) HrifeRa
Whose theory of social change is called historical materialism ?
(A) Marx (B) Pareto
(C) Merton (D) Sorokin

56. ftAqy wef &1 ey foew Al | 2

) AR ) e
(C) @S D)  HATEEH
Agnipath recruitment is related with which job ?
(A)  Military . (B) Police
(C) Home guard (D} Excise
57. ﬁnﬁﬂﬁmwﬁwﬁtﬁmtﬁﬂﬁzﬁa
(A)  EEYS AT B) Fog ataw
(C) gfera wgrenT (D) EH ¥ |9

Jyotirao Phule had established which of the following
organisations ?

(A) Satya Shodhak Sama) (B) Pichhra Varga Sangh

(C) Dalit Mahasabha (D) Harijan Sevak Sangh

58. fwg ¥ sreet dva A A A m At o

(C) 1917 ABr 1915

In which year was Atal Pension Scheme launched ?

(A) 1918 B) 1916
(C) 1917 (D) 1915
59. e agen fe e @ w2
(A) e &= By faa
(C) Fear (D) fred fa

24 /A / X11-5030-(39/40) Page 13 / 24




el

(325

Sundarlal Bahuguna is associated with which movement ?

(A) Narmada Bachao {B) Chipko
(C) Naxalite (D) Backward caste
60. Frafafgadd o myq@aa s & ?
(A)  FREE , AN
AC) &I (D) ¥ 7 @ft
Which one of the following is the main element of state ?
(A) Population (B) Government
(C}  Authority (D)  All of these
61. P 4@ &8 gmfys dadr & sha g a 2 € 2
(A) @S (B) ETa@ETsd
(C) 9mE= (D) WA
Who among the following is associated with the cyclical theory of
social change ?
(A) Sorokin (B) Hobhouse
(C) Parsons (D) Merton
62. fr=# @ =7 afgen sum & fog frwar 7 € 2
Ay @l AmeE (B) w@rft g@Hg
(C) T UHHIE T (D) R == faamamR
Who among the following 1s not responsible for upliftment of
women ?
(A) Swami Namdev (B) Swami Dayanand
(C) Raja Rammohan Roy (D) Ishwar Chandra Vidyasagar
63. fr= o a1 aggfaa wifei & fau wge aifirsfe 38 2 2
pf  FEEEIE (B) =&l sfoa
©) @ (D) i Arfaat
‘Which of the following is not an expression used for scheduled
castes ?
(A) Depressed classes (B) Exterior castes
(C) Untouchables (D) Interior castes
64. s At 3 T faum wwia d faa wfiwa die syl ofegt & fae
amfdE 2 2
(A)  75% - (B) 14%
€]  15% JPf 20%
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63.

66.

67.

68.

69.

[325]

What is the percentage of the total seats reserved in the Lok Sabha
and State Vidhan Sabhas for the scheduled castes ?

(A)  7-5% (B) 14%

(C) 15% (D) 20%

form 3o % AR REw, wer W 3 afem # ST wearm T
F1 Y& R ?

(A) 313,333-64 4B]  ITI=de-164

(C) T=3e-28 (D) H=e-167

According to which Article, is there a provision for Tribal Welfare
Ministry in Bihar, Madhya Pradesh and Odisha ?

(A)  Aricle-64 (B) Article-164

(C) Article-28 | (D)  Article-167

ﬁﬁﬁ#m%ﬁmﬁuﬁ&:@mﬁmm%v

(A) (B) Wea&ETg

141 uﬁsrr!sﬁﬂ (D) ¥ Wi

Which of the following is the third stage of Comte's law of three
stages ?

(A) Metaphysical - (B)  Positivism

(C}  Theological (D) Epistemology
ﬁt{ § 3 19 vt garse T8 8 2

(A) =% " (B) . . @

(C) W &, q@Al P WA

Who among the following is not an Indian socmloglst ?
(A) Andre Beteille (B) S.C.Dube

(C) R. K. Mukherjee (D) Merton

‘Fegmatt ®ie oA W%ﬁmﬁ#i?

(A) @& (B) T
(c) fEg W (D) AT AEE
Who is the author of the book Discovery of India’ ?

(A) Plato (B) Aristotle

(C) Max Weber (D) Jawaharlal Nehru
Fure fra Jead w1 wdw X P §

(A) Mg quY (B) WY qEy

(C) IqEH (D)

Society symbolises the network of
(A) Human relationship (B) Social relationship
(C) Orientation (D) Inter-connection
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70. Y UH 982 YOI ¥ 3R R ReER g aieda i ety e 2
(A) . @. e (B) T Efhes
() v\ #H (D) BGRF

Who has analyzed social change on the basis of little and great
tradition ?

(A) M. N. Srinivas (B) Robert Redfield
(C) S.C.Dube (D) Hetukar Jha
71. % ored & FER T K geea i et
(A) WfE W (B) wftm w
(CY”  IICHAT & WY T (D) INEHAT & FEY T
According to Karl Marx, class membership depends upon
(A) Power (B) Prestige

(C) Mode of productivity (D) Productivity relations |

72. Afy it & sgawr faa w amfia € ?

&) g B) =g
ey avism (D)
Class stratification system is based on which of the following ?
(A) Punarjanma (B) Chaturvarna
(C) Varnashram (D)  Gotra
73.  fra o @ o9 RAdsor % w@ey # il war & wiiew & ad 2
a) = (B) mfa
(C) A=W (D) @

Which one of the following represents a form of differentiation and
not stratification ?

(A) Class (B) Caste
(C) Gender (D) Sex
74. faidsR TR f@wwdie e
(a) - (B) A&
(C) TR (D) TeHifoS SEe
Which one of the following is not the most important characteristic
of state ?
(A)  Territory - (B} Population
(C) Government (D) Political system
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75, ‘feedt 3% Fne T 3T ANE [F F OGH HH 8 ?

(a) . . Fa B) W ®# @
) . @ g (D) %. w§. afmEx
Who is the author of the book History of Caste in India’?
(A) S. V. Ketkar (B) S.C.Dube
(C) G.S. Ghurye (D) K. M. Panikkar
wETem it F1 0L A F HEY ARG F fFT Rw A q31 @ 2
(A) AT W B) faEm
(C) wWEwTg i T
Mahatma Gandhi's Dandi March is related with which state of
India ? |
(A) Andhra Pradesh (B) Bihar
(C) Maharashtra (D)  Gujarat
77. fa # & B9 @En w1 Qe TE R 2
(A) 9RER B faam
o =g Py firs moeeh
" Which among the following is not an example of institution ?
(A) Family (B) Marriage
(C) Law (D) Peer group
78. ool cgawen # YA w4 §F ?
(A) 3w HE (B) &M
(€ o eF F (D) HeAFAA
'thn was Varna system started ?
(A) Vedic pé:riod (B) Harappan period
(C) Pre-Vedic period (D) Medieval period
79. ﬁwﬁ‘ﬂﬁaﬁmﬁwﬁmm%?
(A) B) w=ifoat
() et AD) =R
Which of the following is strictly followed ?
(A) Custom (B) Folkways
(C) Mores (D)  Festival
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B1.

82.

83.

84.

[325}

fadasmgmRIER?

(A)  gEsia )
Jej mge (D) e
Which of the following is not a youth house ?
{A) Dhumkuriya (B) Gitiora
(C) Gotul (D) Bhotia
FUISTE ¥ 9% e F1 fhe en & Fard 4 2
(A) TR 1Br ShTE

(C) WM (D)  JmfwE
Father of sociology Auguste Comte belonged to which country ?
(A) Germany (B) France

(D) Amenca

(C) Japan

gt gaTE QX 39fEvETe & FE 99" <@l 7 ?

(A)  TH T (B) Yftard areremaeen & fahm
() &t ant w1 3% B waeh

Which type of impact of colonialism was seen in Indian society ?
(A) National unity

(B) Development of capitalistic economy

(C) Emergence of new classes

(D)  All of these

e § & F1 uwdtg i i fasrear 7€ 2 2
(A)  &H & (B) %A U favamg
(C) 3 wd ot B favare (D) SHfeRard)

Which among the following is not the charactenstic of Indian

culture ?

(A) Importance of religion
(B) Belief in Karmaphal

(C) Belief in soul and rebirth

(D) Individualism
Rﬁm%ﬁnwﬁ@ﬂéﬂaﬁmﬁnﬁﬁwg?
(A) 33 fmr (B) e faamr

(c) 4 faae (D) WA faare

In which form of Hindu marriage 1s a pair of ox and cow

demanded ?
(A) Daiva Vivaha " (B} Brahma Vivaha

(C}  Arsh Vivaha (D) Prajapatya Vivaha
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86.

B7.

88.

83.

90.

[ 325 |
I6 AT F T FE A R A T F wen gaul F Fafia w2 2
&) (B) FHTHR
(C) wied (D) wEEET
The system which regulates the mutual relations of kins is called
(A)  Kinship (B) Jajmani
(C) Zamindan (D) Mahalwan
WIefta ' 8§ il &1 gE S a2
(A)  wErE@ (B) ®TIFAH-HIEHH HH
(€) W W (D) Iy
What is the main causc of overpopulation in Indian society ?
(A) Environment (B)  Socio-cultural factors
(C) Fecundity (D)  Modernity
‘vt Arerd ) form Avft & ameh ? 2 '
(A) Ui B fedraas
€ T (D) FTUF
‘Mausi’ ( mother's sister ) comes under which category of kinship ?
(A) Primary (B) Secondary
(C) Tertiary (D)  Quaternary
T v TET fead ot & fannform a2
a) & |

_By |
c vdHE 7@(!’#

Ancient Indian society was divided into how many Varnas'?

(A} Three (B) Four

(C) Five (D) Two

£y @ 7 e H g R ?

() it sfrered (B) ST e

(C) v TR (D) e gwen it 6 gfg

Which among the following is an evil effect of casteism ?
(A) Industrial competition (B) Jajmani system
(C) Women education (D) Increase in social problems

Wmﬁzﬁ%ﬁﬁm%ﬂmﬂ?
(A)  Tfas e (B) WTEHide el
(C) GG _{B) eI EIES
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91.

92.

93.

94.

95.

What was the reason for colonial rule in India ?

(A)  Political instability (B)  Cultural differences
(C) Casteism (D) Regional tension
fadasmafadid?
(A)  Tqd (B) IS
(€) T Ji g
Which among the following isnot a caste ?
(A) Rajput (B) Yadav
(C) Brahmin (D) Shudra
wEpfaeu it araumen feem § 2
(A) ANt faE (8) wW. w. shifvama
(C) ¥R (D) wH @
Who propounded the concept of Sankritization ?
(A) Yogendra Singh (B) M. N. Srinivas
(C) Hetukar Jha (D) 8. C. Dube
fr & @ FN wriaE Twen 7@ 2 2
(A)  ETARY (B) W¥ER
() d=Rl /LB1 S ECAETY|
Which among the following is not a social problem ?
(A}  Child labour (B) Corruption
(C)  Trafficking (D) Modernization
= § @ fgia atfa 6 sy § 2
(A) TER (B) frmwez
(C) & (D) Wi
Who among the following has given the concept of folkways ?
(A) Sumner (B) Bierstedt
(C) Johnson (D) Marx
T W1 AT & fog wew @ ?
(A)  wE . (B) IENE
(C) foameree &8 ¢ whd
Is communalism a danger to humanity ?
(A)  Agree (B} Disagree
(C}) Controversial (D) Cannot say
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96.

a7.

98.

' [ 325 ]
P % @ 9 yeran & w2 2
A T die (B) e St
(C) T S (D) e
Which among the following is not a cause of corruption ?
(A)  Criminalization of politics
(B) Luxurious life
(C) Black marketing
(D) Laziness
At e o weram aven fe g @ gafie 2 2
i T Afes T ® (B) TR @
(C) WEd= @ (D) AT A
Corruption in public life is related with which condition ?
(A)  Moral degradation (B) Poverty
(C) Alcoholism (D) Unemployment
e & ¥ ®Y IS T R P
(a)  E B 5
(C) Amm Dy e
Which among the following is not a tribe ?
(A) Santhal (B) Munda
(C) Naga (D) Ravidas
0o Fem ww, ami dad § g whad & i dhed e 8 2
A AerEUwE W (B) T FR
(C) TH. W, Sad o) % fm
Who said, “Change in social relationship is social change” ?
(A)  Maclver and Page (B)  Auguste Comte
(C) H.M. Johnson (D) K. Davis
100. ﬁqﬁﬂﬂ:mﬁ*qﬁaﬁqmwm#ﬂ% ?
A) fo=wm (B) Wi
€ FREE S
Which among the following is not a form of social change ?
(A) Development (B) Progress
(C) Evolution (D) Unemployment

24 | A/ X11-5030-(39/40) Page 21 / 24




Q@Uz - ¥ / SECTION- B

Y AT W / Short Answer Type Questions

[325 ]

m#wz#soagswﬁvﬁfwzsmf%m%:méfﬁw
2 3% fraffia &

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
Each question carmes 2 marks : :

l.

AT & GSIROIRE T WH 31 |

Throw light on evil effect of communalism.

wra & el 3 reaeETs wqeEl % A fod)

15 x2=30

15x2=30

2

Write the names of any two minority communities of India.

Tl oG H WHd T IFH T |

Throw light on the nature of child labour.

~yae PRy e 2 2

Whatis E. D. ?

e T & 39 R W f

What do you mean by economic census ?

Wi HIQer #1 R ?

What is Bhakti movement ?

g s i ) s Fe 2 2

How many scheduled castes are there in Bihar ?
TgH % R IO T TR ST

Throw light on the three causes of AIDS.

9 ; T Ud TR % §9 Ha WY H

Explain the distinction between village and city.

10, fam & gofite & 2 el WOER 3|

11,

12.

13.

14,

Highlight the two impacts of Prohibition in Bihar.

TG % A9 FN W THW S |

Throw light on three causes of Alcoholism.
aree 9y 7 R} ?

What is cyber crime ?
Trertt sraen ® qfoniE &)

Define kinship system.

ATgera et A % R 2

What is Avunculate kinship usage ?
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26.

27.

. [ 325]
YIE ® FTE ¥ 3wt ) we 5 2
Explain lh(:: two factors of urbanization in India.

SR B # afeenat ) B oy 9w | R 2
Write three causes of lower status of women in ancient time.

fom & ama 7wl 2 2
What do you mean by Gender ?

afgen wnfweor & amg v wR 2 2
What do you mean by women empowerment ?

TRy it 2 fasmanad w1 quly &6t 2
Describe two features of national integration.

YR a9 8 sl s % @ wee ) fae w5 2

Discuss two importances of Brahmacharya Ashram in Indian

society.

THTSHIHR w1 2 ?

What is socialization ?
Enniceuve ic o i e
What is caste census ?

fem e A by & foame €9 & 2

How many types of marriage are there in Muslim community ?

At § ague faam & @ S w5 e w®)

Describe three causes of polygamy among tribes.
gfearftecor & wfsen +t sfonfya U

Define the process of westernization.

wrepfre ) A i & T

Describe three characteristics of Sanskritization.
w4 Ut Fen | A T v § 2

What do you mean by voluntary organization ?

1 oo qui # A TE FH
Distinguish between Caste and Varna.

ﬁqﬁmﬁﬁa%mmﬂ:aﬁ

Describe the importance of Gotra in Hindu marriage.

freTe UE HaTE ¥ e TWE H
Distihguish between Nikah and Mutah.
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3 Fra Wy Long Answer Type Questions
WV WA 31 % 38 O FwG wvr § 4 frRt 4 v & T E ) Wi & O

5 3% Froifa ¢ ; 4x5=320
Question Nos. 31 to 38 are Long Answer Type Questions. Answer any
4 questions. Each question carries 5 marks : 4x5=20
31, ¥R T g et e st | 5

Discuss the main characteristics of National Integration.
}2./ fig Foae 3 @ @ smyfie ol w1 ot ) 5
Examine the modern changes occurring in Hindu marriages.

33. T 7w ofeem faame 3 s Wt 5

Distinguish between Hindu and Muslim marriage.

/W gt F Tl wwe e W 5

Discuss the social significance of kinship,

35. ATE & IR FHH = 5
Explain the factors responsible for urbanization.

36. wmafEa & I @@ favmat @ avls ) 5
Describe the meaning and characteristics of communalism.

37, vEgetwm w1 ¢ 2w ot : ol | 5
What is globalization ? Describe its characteristics.

38 T T W & Py fed) 5

Write an essay on Panchayati Raj.



